Word Problems - BRONZE
1)
A child has 7 bags of apples.  In each bag there are 8 apples.  If he shares them equally amongst his 4 friends how many apples do they each have?

2)
A child has 10 bags of apples.  In each bag there are 6 apples.  If he shares them equally amongst his seven friends how many apples do they each have?

3)
A child has 10 bags of apples.  In each bag there are 5 
apples.  If he shares them equally amongst his 5 friends 
how many apples do they each have?

4)
A packaging plant has 100 eggs.  In each box fits 15 
eggs.  How many boxes do they need?

5)
Tyler receives 20 boxes with 10 presents in for 
Christmas.  He decides to be generous and shares them 
equally with his 9 family members.  How many presents do 
they each get?

6)
Jameel has a collection of 30 chess boards.  If each 
chessboard has 8 pieces.  How many pieces are there 
altogether?


Have a go at these:

1)
33 x 5 =

2)
75 ÷ 5 =

3)
65 ÷ 5 =

4)
73 ÷ 9 =

5)
53 x 4 =

Word Problems - SILVER
1)
A child has 7 bags of apples.  In each bag there are 8 apples.  If he shares them equally amongst his 4 friends how many apples do they each have?

2)
A child has 20 bags of apples.  In each bag there are 6 apples.  If he shares them equally amongst his seven friends how many apples do they each have?

3)
A child has 14 bags of apples.  In each bag there are 15 
apples.  If he shares them equally amongst his 11 friends 
how many apples do they each have?

4)
A packaging plant has 1000 eggs.  In each box fits 15 
eggs.  How many boxes do they need?

5)
Tyler receives 20 boxes with 13 presents in for 
Christmas.  He decides to be generous and shares them 
equally with his 9 family members.  How many presents do 
they each get?

6)
Jamilee has a collection of 30 chess boards.  If each 
chessboard has 16 pieces.  How many pieces are there 
altogether?


Have a go at these:

1)
33 x 45 =

2)
75 ÷ 15 =

3)
65 ÷ 5 =

4)
73 ÷ 9 =

5)
53 x 24 =
Word Problems – GOLD
1)
A child has thirteen bags of apples.  In each bag there are seventeen apples.  If he shares them equally amongst his six friends how many apples do they each have?

2)
A child has eighteen bags of apples.  In each bag there 
are sixteen apples.  If he shares them equally amongst 
his seven friends how many apples do they each have?

3)
A child has eighteen bags of apples.  In each bag there 
are fifty three apples.  If he shares them equally 
amongst his sixteen friends how many apples do they 
each have?

4)
A packaging plant has 3000 eggs.  In each box fits 88 
eggs.  How many boxes do they need?

5)
Nathan receives fifty boxes with forty seven presents 
in for Christmas.  He decides to be generous and shares 
them equally with his twenty three family members.  How 
many presents do they each get?

6)
Joshua has a collection of 60 chess boards.  If each 
chessboard has 78 pieces.  How many pieces are there 
altogether?


Have a go at these:

1)
123 x 45 =

2)
667 ÷ 23 =

3)
545 ÷ 45 =

4)
593 ÷ 35 =

5)
832 x 54 =
